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Instructions:

i)  Question No.1 is compulsory.

ii)  Solve any three questions from the remaining five questions..
iii)  Assume suitable data wherever necessary.
iv)  Figure to the right indicates marks.
Q.1 Solve any four questions from following
a)  Write the factors on which capacity of brakes depends.
b)  Explain how a governor differs from a flywheel?

¢)  Derive an expression of gyroscopic couple on a naval ship duripgg %

pitching.
d)  Explain the role of idler gear in simple gear train? (05)
e) Draw and explain the turning moment diagram fai .C.engine. (05)
Q.2 a) With a neat sketch explain the working ﬂ%ij @6 (06)
b)  What are the various applications of fl l (04)
¢) A cone clutch is used to transmit ﬁ- | W%’Elt 1440 rpm. The cone (10)
angle of clutch is 400 and coeffi "":} f friction is 0.3. If the mean
diameter of the bearing surface. ’:E:E‘ and allowable normal pressure
is 0.2 N/mm*, determi %”3 + eiﬂns of conical bearing surface and
the axial load.
nsions in case of band and block brakes. (10)

£ . nass 0.5 Kg, with a radius of gyration of 20 mm, is (10)
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vertical, when |
i) The vehicle moves in the direction of the arrow “X" t ak >a
turn along the curve. S, N

i) The vehicle reverse at the same speed in the dix

along the same path.

Q4 a) Explain Proell governor with neat sket€hy (10)

b) AnLC. engine running at 2000 (10)
Crank radius = 60 mm, leng 18

= 100 mm. mass Df & ‘.ij-_.......__". ! 4

(10)

O CIPCIN (10)
motor shaft running at 1450 rpm. The planet has 45 teeth and it gears

with fixed annular wheel A and rotates on a spindle carried by an arm
which is fixed to the output shaft. P also gears with S. Find the speed of
the output shaft if the motor is transmitting 1.5 KW power, What is the

torque exerted on the annular A.
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Q.6

a)

b)
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respectively. The levers are pivoted at 120 gim fig

and the mass of each ball is 2.7 Kg. The

1) Stiffness of the spring.
Explain the correction g:upl (05)

#efi'and cone clutch. (05)
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Correction:

Q.2.C — the cone angle of clutch is 40°,
Q.3.b

Q.5.b

Query Update time: 22/11/2016 03:40 PM



